Ceiling\Motonok

r +30°

When mounting the projector, unscrew the knobs in two sides

of the projector at first, and don't let the knob end over the

inner surface to avoid failing to mount. And then put the plastic
washer into the connection component. The purpose of mounting
as the shape is to preventing internal abrasions(Don't loose the
two side knobs at the same time for fear that it drops).

Please see our models series at www.kromax.ru

If you have some problems regarding products mounting please call
Moscow +7(495) 661-70-06, 979-69-76

You can contact with our official representative in other cities:

City: telephone:

ACCESSORIES
NPHHANJESRHOCTH

=0

M8*60 Metal anchor (4)
* AHkepHbIV 6onT (4)

()

@5 flat washer (12)
* Wanba @5 (12)

=

Plastic washer (1)
* MnacTtukoBas warba (1)

—

M3*10 Phillips screw (4)
F. Bont M3*10 (4)

Short joining patch (4)
l. Apantep (4)

MOUNTING MANUAL

fopog :

* BonT M4*10 (4)

Ceiling\MoTonok

[Tpu ycTaHoBKe NPOEKTOpa CHavana packpyTuTe pyyki ¢
ABYX CTOPOH OT MPOEKTOPa, HO He BbIKPy4MBaiiTe 1X A0
KOHLa. 3aTem NpUCcoeAnHUTE NNacTUKOBYHO Lanby K
COEAMHUTENBHOMY KOMMOHEHTY, 4T0DbI 136exaTh TpeHus
BHYTPEeHHIX feTaneil. CoefnH1Te KOHCTPYKLMIO W 3aKpyTUTe
YK, YCTAHOBMB HY)XHBIW yron HaknoHa. Hukoraa He
BbIKpy4MBaMTE PY4KM [0 KOHLA, 4T0BbI N3bexaTtb nageHns
npoekTopa.

Becb MozenbHblii paa cMoTpuTe Ha caiite www.kromax.ru
Ecnin BO3HUKHYT BONPOCHI N0 YCTAHOBKE IAHHOTO M3AENNA 3BOHNUTE
B Mockse: Ten .+7(495)661-70-06, 979-69-76 , nubo no

TeneoHy OduumanbHoro npeactasutens KROMAX B Apyrom ropoge:

TenedoH :

©

3 flat washer (4)
* LWawnba D3 (4)

—

M4*10 Phillips screw (4)

©

34 flat washer (4)
Waiiba D4 (4)

=

M5*10 Phillips screw (4)
* Bont M5*10 (4)

HHCTPYRIINA IO YCTAHOBRE

:

Use the fixing component as a templet to drill 4 holes of
@10mm and 50mm deep on the ceiling. The holes should be
symmetrical and balanceable in horizontal and vertical
direction. Insert four metal anchors into these holes.

Remove the flat washers, spring washers and nuts from the
steel anchors, then place Fixing component on the four screws
exserted, and then install the flat washers, spring washers and
nuts on the four screws. Each nut should be screwed down to
make the steel anchor and Fixing component and the ceiling be
fastened.

INIAT

Ceiling\MoTonok

MpocsepnuTe B noTornke 4 oTBepCTUs AnameTpom 10 MM 1
rny6uHoin 50 MM, CMONb3ys CTEHOBYIO NACTUHY B KayecTse
TpadapeTa. BcTaBbTe B 3TV 0TBEPCTUS aHKEpHble 6ONTbI.
Y6epute nnockue Wanbbl, NPyXvHHbIE Wanbbl 1 raiiku ¢
aHKepHbIX 60nToB. MpunoxuTe KpenneHne K NOTONKY, 3akpenuTe
LWaitbbl 1 raiku 0bpaTHO Ha aHKkepHble BonTbl. Kaxaas raika
A0MKHa BbITb NNOTHO 3aKpyYeHa ANs HaAeXHON dukcaLmn
KPOHLUTEMHa Ha NOTOSKe.

©c Kromnx

technology of installation

www.kromax.ru

[ odellProjector=300;

Thank you for purchasing KROMAX Company products! We hope you will enjoy it!

Designed and produced in PRC by KROMAX Co.Ltd SWEDEN Blekinge

The product you bought is made with using high techology equipment and high quality material.

We give 10 years guarantee for all welded and mechanical joints

USAGE:
«Projector-300» ceiling bracket is used for mounting of video
projectors with maximum load up to 10 kg.

ATTENTION!

The corbel must be mounted on concrete or brick ceiling
with plaster thickness not more than 3 mm. All accessories
of the set must be used only for such surfaces. If the
ceiling is made of other materials, we recommend you not
to mount it by yourself. Please consult with professional
experts for proper mounting.

BMNArOOAPUM BAC 3a nokynky usgenus coupmbl «tKROMAX»! Hageemcs, uto oHo Bam noHpasutcs.

MAINTANANCE:
Use suds for cleaning without any solvent.

MOUNTING:

Proper mounting is of great importance.

In order not to get injury and not to damage the
product please read the manual first. For mounting
you must have screw-driver or wrench with socket
head, electric drill and perforator. Please mount the
product according to the user’s manual.

V13genve, koTopoe Bbl nprobpenu, N3roToBNEHO Ha BbICOKOTEXHONOMMYHOM 0BOPYAOBaHNM C UCMONb30BaHNEM
TONbKO Ka4YeCTBEHHbIX MaTepuanos. [apaHTuitHble 0653aTeNbCTBA Ha BCE CBAPHbIE 11 MeXaH14eckve

coeauHenms 10 ner.

HASHAYEHWE U3OENNA

KpoHwTenH «Projector-300» npeaHasHayeH ans kpennexus
Ha NOTONOK BMEOMPOEKTOPOB, MaKCUMAanbHbI BEC KOTOPbIX
He npesbIwaeT 10 kr.

BHUMAHWE!

KpoHLuTeltH 3akpennsetcs Ha 6eToHHbIA N1bo
KVPMUYHbIA NOTOMOK C TONMLLMHON LWTYKaTYpKyu He 6onee
3 MM. BxopsiLLme B KOMNMEKT KpENeXHbIe N3aenus
npeaHasHayeHbl UCKMIOUMTENbHO NS KPEnneHus Ha
BbllLEeyKa3aHHble NOBEPXHOCTW. B cryyae ecrv noTonok
M3roTOBMNEH W3 APYrVX MaTepuarnos, Mbl He
peKkoMeHflyemM CaMOCTOATENbHO yCTaHaBNNBaTh JaHHOe
13aenme, NPOKOHCYNbTUPYNTECH C CePTU(NLIMPOBAHHBIM
cneLyan1cTom 1nm obpatutech K KBanuguLpoBaHHbIM
YCTaHOBLLMKaM.

Mepen yCTaHOBKOVI Kpennexsus yﬁeEMTer B OTCYTCTBWM B
NOTONKE Ha MeCTe KpenneHna aneKkTpu4eckoro kabens,
rasonpoBsofa, CaHTEXHUYECKUX N APYrUX pa3BA3OK.

OBCNYXBAHUE
[ins yncTki n3penus HeobxoAMMo MCMonb30BaTH Tennyto
MbInbHYHO BoZy 6e3 pactsoputeneii!

MOHTAX

BonbLuoe 3HayeHe MMeET npaBurbHas yCTaHoBKa
13penms.

Bo nsbexanue nony4eHns TpaBM v NOMOMKI U3AENKS
BHUMATENbHO cnepyiTe MHCTpYKLuK. [ins cbopki Bam
noHapobsTCA: 0TBEpTKa NMBO raeyHbIN TOPLOBBIA KoM,
3neKTpuyeckas Apenb 1 ceepria. 3akpenuTe KPOHLLTENH K
MOTOMKY COFNACHO MHCTPYKLWU.

INIAT

When mounting the connection components, the four
Z-formed connecting patches should be laid reasonably
according to the position of the holes in the upper part of
the projector. And the screws should be selected according
to the size of the thread holes in the projector, Please
place the projector as center as possible, then scnew all
the bolts.

[ins MOHTaXa KpenexHon NNacTUHbI KPOHLLTERHA K
MpOEKTOpY BCE afanTepbl AOMKHbI ObITb PACcMONOXeHb!
CTPOro B COOTBETCTBUM C OTBEPCTMSIMM Ha IHE MPOEKTOPA.
Bbibepete nogxoasiume 6onTbl Ans MOHTaxXa, B
COOTBETCTBWUM C pa3mMepamMu OTBEPCTUI Ha MPOEKTOpe.
Ybeautech, YTo NpoekTop byaeT 3akpenneH PoBHO, 3aTem
3aKpyTuTe BCe 60MTbI.




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


